TONS (1 MARK)

- ”I‘ 14 Resoum“

= g,

in copper reserves.

uses of limestone.

- energy obtained ?

d is called galena.
‘bad conductor of heat.
d as a constituent in alloys.

which contains 60 to 70% of iron.

uses of manganese ore.

two types of metallic minerals are :

) Non-ferrous minerals are gold, silver, lead, tin, etc.
B e the four varieties of iron-ore.
, Phe four varieties of iron ore are :

‘ =, § "a?mte 72 per cent iron
ﬁ«;‘a_. e m&; 60 to 70 per cent iron
| {e) Limonite 40 to 60 per cent

_ (d) Siderite 40 to 50 per cent.

. Mention any four uses of manganese ore.
Uses of manganese ore :
@) Making iron and stec!

hva Pradesh, Singhbum district in Jharkhang
ang

¢ used in cement industry for smelting of iron and in chep; :
il

is obtained from Uranium and Thorium.
e ore of lead called ? Give three uses of lead.

de is used in cable covers, ammunition, paints, glass and
g rubb

iron-ore mines are found in Chhattisgarh, Jharkhand
se ore is used for making iron and steel and preparing alloys

; also used to manufacture bleachin i i
also us g powder, insecticide, paints )
t are the two types of metallic minerals ? Give one exam::;::f

B = - . .
| Ferrous which contain iron. For example Iron ore, manganese ore, nickle,
»

3
i

AT 2004

0. What are the conventional sources of ener

8 Thos

Q,ll.
v (@ ltisu

Ql
Ans. Difference petween metallic and non-metallic
Metallic \ . ML L

{@ These minerals contain metals. (@ These do no

(b) These are found in igneous rocks. | (b) These are four
Q13 What are non-conventional sources of energy ? Git o

Ans Non.conventional sources of energy have not been i
: d and generally inexhaustible. N

Q.

o sources of energy which have mwm
gources of enerey. Conventional sources of en i
electricity (both thermal and hydel).
y is coal often called ‘Black Gold’ ? Give
alled ‘Black Gold’ because : i
sed as fuel in industries, thermal power
(b) Itis the primary source of energy.
(o) Itis used as a raw material mainly for chemical i
3. Give two points of difference between metallic

Coal 18 €

d. tidal, geothermal, atomic energy an
Why is iron-ore called the backbone of modern
o is called the backbone of modern cwxhsahon )

tal of universal use

s. Iron-or
o manufacturing of machines, agn

(@) Itisame
() Itis used for thi
general use. : ik e
Q15. What are non-ferrous metals ? Give two exmﬁpléj). :::ﬁ __
Ans. Non-ferrous metals do not contain iron content. ey
ead, bauxite, tin, ete.

Example—Gold, silver, copper, .
Q16. Give two points of difference between L.P.G.
Ans. Difference between L.P.G. and C.N.G. AN
L.P.G. ‘ "

(@) Itis liquified petroleum gas.
(b) Itisusedin the household.

R QUESTIONS (3 MARKS)

SHORT ANSWE

Q.17. Whatis a mineral 7 p ‘th. 4
Ans. Homogeneous naturally occurring substance with 2
ral as “Itis asubstancefha S

the geologists define mine

have to be extracted from a deep quarty oram‘uiﬂ

below the sea bed.” e
Q.18. Classify minerals.

Ans. Minerals are classified as metallic and non-metallic I



anese, nickel, cobaly,
et

ulphur, granite.

mic viability of a Ming
of extraction and the clog
ic viability of a reserve,

s

es, agricultural implementqi

iron-ore ?
tent of iron upto 70%.

2] and ferro-manganese alloy,
hing powder, insecticides, Paints

c s and chemical industries,
10 'ﬂloys
electronic industry ?
ow power loss factor, insulating
most indispensable mineral u

ary rocks of almost al] geoloj
ineral resources ?

“agdishpur gas pipel
Bassein with the fertiliser, |
is artery has pro ded.

Q30. Differentiate between therms
Ans. (@ Thermal electricity is
non-renewable resource
renewable resource, :
(b) The total share of thermal el
electricity is about 25% of the t
Q31 Why do the non-conventional s ro
. Non-conventional sources are abun
therefore this energy has a bright f;
Q32 Why is solar energy becomiug :
. Solar energy is becoming popular ;
(a) It can be used for cooking, pumping,
(b) Itis universal, abundant and inexhaug
(¢) Itis pollution free. e
. Name the largest solar plant of India.
. The largest solar plant of India is I t
used to sterilise milk cans.
Name the largest wind farm. PR
Ans. The largest wind farm cluster is located
Nagarcoil and Jaisalmer are well known for
Q.35. Name two projects set up in Indi
Ans. The two experimental projects to | 3
Manikran in Himachal Pradesh and thi
State measures that can be taken
(@) Using more of public transport. ;
(b) Switching off electricity whenever not requ
(c) Use power saving equipments regu larly.
(d) Emphasis on greater use of non-conves
Q.37. Distinguish between a rock and a min
Ans. Arock may contain many minerals in var
proportion of a mineral along with dertafn
Q.38. Distinguish between ferrous and n
Ans, The minerals having fair amount of ire
ore, manganese ore, cobalt, nickel. Th
are non-ferrous minerals like copper, t
Q.39. What is the difference between min
Ans. Minerals are inorganic substances
Anatural combination for minerals from
ore, < gl
Q.40. Why is conservation of miner
conserving minerals.
Conservation of minerals is e
(@ They are non-renewable r
(6) They cannot be created or 1



for future generations,

transport system

sl I:L?ngnvenhonal sources of energy.

___Hydro-electricity
(@) Itis produced by water.

o

(6) It is produced from renewable
resources,

ele.ctricity produced in India.
(d) Itis pollution free.

__(© It's production cost is low.

[A12004]
. be conserved in the following ways :

ing should be reduced

(¢) Hydro electricity accounts for 25% of | s

o 1

£ s

1 m the main typq’ 0
. W h igneous and metamorph
V' e smaller occurrences a
Jike tin, copper, zinc and
el n sedimentary rocks, a nw
~ psaresult of deposition, accumuy
; ‘:! © Decompoaition of surface rocks
" residual mass of weathered m
5 () Certain minerals occur as allu
i 48 silver, tin, platinum are among
~ (¢) Ocean waters contain vast
‘ promine. m"‘ m. R
45 Name the major iron-ore belts in |
( i‘he major iron-ore belts in India are :
s (@) Orissa—Jharkhand Belt : Mayurbhanj,
of Jharkhand. :
®) Durg-Bastar — Chandrapur belt' Iii‘}, ¢
(e) Bellary-Chitradurga 4 Chikﬁlag
deposits are known to be one of the 1
(d) Maharashtra-Goa belt.
 seest the steps taken to conserve

: % (a) Wastage in the process of mining and

"= ) Export of minerals should be minimised
~ (¢) Use of substitute in order to save miner:
potars (d) Whenever necessary, we should encour
Q47. pifferentiate between conventional and
Ans. (@) Conventional sources of energy haye
conventional sources are new.
() Conventional sources include coal, pe
conventional sources include solar, wi
() Non-conventional sources are all re
conventional sources. 94
Q48. Differentiate between different types of
Ans. Peat : It contains less than 50% carbon. It |
less heat. O
 Lignite : It is low grade brown coal which
~ Bituminous : It is the most popular coal
- hasaspecial value for smelting iron in blast
~ Anthracite : 1t is the highest quality hard co
) "m is petroleum considered the nextm 2
Ans. Petroleum is considered the next major e
~ (a) Itprovides fuel for heat and lighting
- (b) Lubricants for machinery .
(¢) Raw material for a number of manul
(@ Petroleum refineries act as a nodal i
numerous chemical industries.




am mjc rocks ? W
ur in the cracks, creviceg,
er iodes. In most, cases th
ced upwards through cayig,
ewable source of Power,
shich may be obtained continually year
r example, hydro-electricity,

im, nat n0n~repw

urce q;rbath energy and raw materig] 9
in running an industry.

imnmmg the pump for drawing wat;eymy;"peammv

ial for producing diesel, kerosene oil.
nd biogas.
nd in association with or without petroleym, Thig

,ghmba, farm, animal and human wastes, It is
: ed to natural gas which is used in urban aregs,
Act’? Describe five measures for efficient uge of
fomrsing ‘ . |Delni 2005)
to suggest measures for efficient use of energy

! efficient use of energy :

e b

onventional sources of energy.

of energy ? Why do the non-conventional
luture ? Give four reasons. 1y
Or

) &W?Why is water, as a source of cnergy,
{ 1 ? Explain four points in this regard.
= [AT 20081
y;ﬂstemateria] are non-conventional sources

: have a bright future because they ar

riendly. These sources of energy are not as
coal and petroleym

e conventional sources of energy. i
A0t than coal and petroleum because itisa

) Bi

+ion free. Electricity produced

| or petroleum- T
the importance of coal as g .
1? Describe in brief the distriby
oal is the main resource of power generaf
ppout 67 per cent of the country’s requir.
is the prime source of energy in the manu
It is also used as a raw material mainly fo
S8 | ion of coal : 3
flgﬁ‘;t;j:::::racite is found in Jammu and Ka!hm( o
¥ 'éuminous is found most widely in Jharkh d
* and Madhya Pradesh.
‘('c)%‘ ménite or brown coal is found in Rajasthan




< where coal deposi
coal field.
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: wufacturing Industries

STIONS (1 MARK)

cause water pollution ? Explnm

| effluents are discharged into rivers. They are both Organic and jn, 300,]
,A soaps, pesticides, fertilisers, plastics and rubber are sOm;ﬁ:‘l

nts of water. . g,

pipal industries which create water pollution are

paper pulp, tﬂnnery,n
[}
! water containing toxic metals pollute water.
te emitted by the industries pollute water. iy
industrial pollution degrade the environment ? Explain Witht‘::
P (A1 3
I rial pollution degrades the environment in the following ways, It pollutes th:o”
due to the presence of carbon monoxide and sulphur dioxide. &,
Air-borne particulate materials consist of both solid
A { mist, spray and smoke contain both types of particles.
: ﬁ'pqnhon affects human health, animals, plants, materi

". Give two points of difference between large scale i

* w between large scale industry and small scale in
: 4 Large Scale Industry

(i) These industries employ a large
number of labourers.

and liquid particles, Dust, fume

als and the atmosphery,
ndustry and small gy,

[Foreign 299,
dustry.

Small Scale In dustry

(1) These industries are owned and rup by

an individual with the help of small

number of people.
(i) Huge capital investment is

needed
Q4. Give two points of difference between he

Ans. Difference between heavy

LX)

(ii)

Relatively small amount of capital
investment is needed.

avy industry and light industry.

[Foreign 2004]
and light industries

Heavy Industries

(&) The raw materials are heavy and

Light Industries

() The raw materials are light.

(i) Pmdl.l‘ce heavy goods like huge
machines by iron and steel
industries,

(i) Produce light goods like electric fans
and sewing machines.

: [Foreign 2004
Industries — They derive the raw material from agriculture, e.g., jute.
based Industries — They obtain the r-

5 R QUESTIONS (3 MARKS)

——

facturing ? b
.m':,l:“lgoods in large quantities after
ductwnro ducts is called fnanufac.turing.
A ,,nl“‘b:: :‘ importance of industries, 2
o s”“in qustries help in modernising agriculture
a) S
pov : econoﬂxuce dependence of people on agriculture,
® Tbegeraim at bringing down regional disparitie
(c) Th; backward areas. o
b ort of manufactured goods expands trade |
(d) Expded foreign exchange. . R
e factors that contribute to the location of an
Qb s“‘e-thf,f our industry depends upon 1 Tuaiing
Ans: Mcatl;‘l’:)" sical factors — availability of raw material, power
(@) ¥P :
;I;m:::,.inp“ts — labour, market, transport, capital,
R e ont o
policies. ile industry contribute to the natig
e textile in »ry. ; ;
Q9. How dqes::try contributes significantly to md\'lstnsl
Ans: e ment (35 million persons directly). It provides fo
emPl?mes 4% towards GDP. o 7
contri he factors that affect the locahsatnolg of c
sm:e : ‘; at affect the localisation of cotton textile indy :
or:
f;a)c availability of raw cotton
(b) market
(¢) transport :
(d) labour i g
QOIS ) 2 tile industry generate employ
e thetﬁztiz?i?x::r; ;:rovides aliving to farmers, cof
Ak () COttm:afieixnl:pinning, weaving, dyeing, des'igningv. p
?I?f: gxdustry supports many other i.ndustnlt:: such as
o ackaging materials and engmee}mg ‘_"0‘;' - ? 0
¢ are the challenges faced by jute industry?
i Wha;{?r}f oduction cost and stiff competition in intern
1gh pr 3
Aokl hg verall demand for jute Pmd‘_mts- ot the
> i 11 posing problems for the i
Synthetic substitutes are all p ) O
B " : located close to sugar car
Q.13. Why is the sugar industry loc ciib
iy i is located close to the sugar cane p
Ans. Sugar industry is hich is perishable,
industry is based on sugar cane, w

—~ t is
oo Wi

COmmes

Q10.
Ans.

Q14. Why is iron and steel industry called basic industry ?

Ans. Iron and steel industry is called basic lPdUSt?;i:z:;?w?n
medium and light depend on it for‘thelr mlac et of ol
It lays the foundation of the r.apxd devehoip puilding, ¥ i
engineering and machine tools }ndustry‘,lsrelzl i

Q15. Explain why iron and steel is conside i

Ans. Iron and steel is considered a heavy mdust?ﬂm < e
the finished goods are heavy and bulky en

aw material from minerals, e.g., iron.
122 Eovick You® 5,000 Science-X




for iron and stee)
m and steel industry are _.hm

v Aluminiy Y
and an assured source of raw matl:r?nldu

location of this industry. g
‘ W) y :
the production of varj 3

1ous chemi i
led chemical industry. % e d‘rm’ ‘
al industry. Give two examples,
1 the by-products derive

ria - ta:?’l;:red for cement industry ?

s bulky €avy raw materials like Jimex ilica, aly

;. p:w are its other requirements. PR e
ustry on the Indian economy ?

industry i
: ployment generation, 30% of tlu]z people

* Cause air pollution ? .
mical . Y L0
and paper factories, brick kilns, refinerjes and sml!lt‘i;g

€es undesirable gases such as sulphur

Ing i i S
"l’:l;ilca lsl:icl;sm:ﬂ Wastes and affluents are dxschax'ged
: Vi and rubb_er are some common pollutants
‘ VY metals like lead ang mercury pesticides

”Ghmted ?

foul S
. means which involyes screening, grinding,

ehhl'ﬂoess.
emical and physgica) process which involves

.

%

nd SUPPLY their Products or raw materials to
Copper smelting anqd aluminum smelting.

St

s

he map of India given below s
;ons that follow : g

, — AFGHANISIAN, e

. o
By A
/' Snnagar »
Bmgrm#!Al

ot
{h,‘“wubsd i

h'e -
Vadodara

°
Indore
| somiaar 51..;9! .J f

. -
Mumbat Aurangabad ey

@ Pune

“@chenna W SILK

these States.
‘Two states having the largest number of ¢

‘Gujarat.
Most of the mills are located here due to
- (i) availability of raw cotton
(it) availability of market
ii) availability of transport
v) availability of humid climate.




growth of Chemical Ing

] Xndu?'y are :
i both organic and i i o~
| in abundance. D
pharmaceutical.

“contributed much to agriculture
industries like synthetic fib ‘
are widely used. .

jors that affect the location of an indus

fect the location of an industry are - -

i
¢
}
22 Wy
T
i

try move hand in hand. E i
L . Explain.
a major boost to agriculture by raisin

] Qgi. This is because of :

ign C“_Iture for raw material. i producﬁvﬁgy," .
- crray irrigation pumps, fertiliser: i,
and tools, etc., for the farmers. N

assist agricultur-ists in increasing their production,

insecticides, plastics and Pyg ‘

3

'ﬂ]‘lﬂim various
| types of fex tihsex s to mai
ntain the W

*‘ﬂ cement, aluminium

—iron
e j::e ;‘091. copper smelting, aluminium smelting
uce co: i iy
' Pmd- nsumer goods for direct use by

more than
7 e Rs. one crore on any industry than it
R

1St

: erated by @ .
nd ¢ o go vernment agencies — BHEL, SAIL
g P "MWF individuals or a group of individuals
state and '

ity Y

individuals. OILis jointly owned by

Btive sector — indus
~ of raw materials, workers
 their profits and losses proport;
in Kerala.
ding to the bulk and weight of raw ma
@ ndustrics such as iron and steel, 3
Tt industries that use light raw
‘ or drawbacks faced
S veavings knitting, processing units can
B etlin the country: There are some lar
of the production is in fragmented sm
a major drawback for the industry.
ton yarn and garment manufacturers have
What some of the burning problems |
Q,“' | Scarcity of good quality cotton
A ® Obsolete machinery
(o Er atic power supply
@ ! productivity of labour "

1 stiff competition with synthetic fibre.

’ » is most of the jute industry located in
Ans: o) Proximity of jute producing areas
m’_mpensive water transport §i548
: (c)' Good network of railways, roadways and wat

material to the mills
@ Abundant water for processing raw jute
(e) Cheap labour

A Post facilities for export of jute goods. i

m What is the objective of National Jute Piﬂ’i@! ;

KA 4

Increase productivity
(b Improve quality
" (o) Ensure good prices to the jute farmers
" (d) Enhance yield per hectare.

g . A‘l& zi?ﬂ;nal Jute Policy was formulated to :

Q47, State reason why the sugar industry is shif
Ans. Inrecent years there is a tendency for the sugar mi
" (a) The cane produced here has a higher sucrose
_ (b) The cooler climate also ensures a longer crus
~ (¢) The cooperatives are more successful in

4 ; - (@ Southhas better port facilities for export.

foreign exchange.
Why does the Chota Nagpur plateau ha
nd steel industry.
agpur plateau has the largest concentl
w cost of iron ore ‘
High grade raw materials in proximity I
Cheap labour .
ast growth potential in the home mar X




the waste by land filling
further use. .

d by fuel selection and utilisation, b

by coal in the industries. L

plants different from mini steel plants 2w .

ng

ce ? What recent developments have led to

and handles everything in one complex
teel making, rolling and shaping whereas min; |
M and use steel scrap and sponge iron
tions. The problems faced by this md
bility of coking coal

@?dupt;on capacity due to liberalisation and _A o

the environment ?
of pollution. !
*mitted by the industries pollute air ol
dbythe : and water. Air pollutio,
ahigher proportion of undesirable gases anh‘m i
& - Jasity -;T‘I-‘:“:
g gdﬁlbn-al effluents that are discharge&dnm
es which ;  create water pollution are paper pulp, textil;,
: lﬁmmary and electroplating. it
1' metals pollute land and soil. The dumpingd
eads to degradation of land. Surface mlﬁlﬂlﬂm

om mechanical saws, pneumatic drills,

OF

is largely concentrated in G arat and |

trbéing_'ﬁ:ced by this industry. [Delhi.
rated in Gujarat and Maharashtra du

KO

Ans.

mid climate. ¥
o faced by cotton industry are ‘b« p
(@ Searcity of good quality cotton
®) Obsolete machinery FE
(c) Erratic power supply
) gtiff competition with synthetic
lain with examples any four fact
and steel industry in Peninsular In
Factors responsible for centralisation o
(@ Al the raw materials required for iron and
Jimestone are available in this area,
Iron and steel industry is a heavy industry
Location of this industry is therefore gove
() Availability of cheap labour.
@ Good means of transport so that manuf:
within the country and exported to other co
Explain any three physical and three hums
industry in a particular area.
Three physical factors for the localisation of an ir
(@) Availability of water forms an important
(b) Power resources : electricity is very imp;
(¢) Availability of raw material is a major re
Human Factors : e
(a) Labour
(b) Transport facility
(¢) Banking facility. :
What is the importance of sugar induitﬁyl
tendency to migrate towards the southe s
Or
How has chemical industry gained an im
economy ? Explain any six points in this r
India is the largest producer of sugar cane in the
of sugar. Sugar industry is showing a tendency o
(a) Sugar content in the sugar cane of southern
states ]
Sugar industry can better be run by the
movement is more successful in the South that
(¢) Climatic condition are more suitable in the
(d) Sugar is also an export item and helps in
better port facilities for export as compaﬂﬂ&

(b)

AL AR

(b)




ong the Hugli river ? Exp :

! m river because of the f
s, close to the jute mills,

ater transport.
for processing of jute.

el A woollen textile centre in
45 i N ~°) wo cotton textile mills
for export of jute products. 4 ]

: (;; gilk textile centres in Ji
t affect the location of an iy -

pollution are :
of industries.

< ors, scrubbers
emissions.
ng into rivers.




of India locate :
+ on and steel industry.

Lifelines of National

1 plant. h
g “ : i
steel 111-::““"w [AT 1995, Detyy
steel IAT 1998 o % [ORT ANSWER QUESTIONS (1 MARK)
Bokaro steel plant- (AT 1998, 97, 9  Detg | BBV
‘ > 97, 96, De, 2 . munication ne

~ (p Bhilai stecl plant. : Dethi ?“ -’.”’m a’ Qi:?c:ﬁun X et meract it h other.
@ A centre for aircraft industry in Karnataka. e u‘vﬂq An®: Communication has reduced distances and ha:‘}:wt:?&i ‘
communication ? f‘n

2 What iS mass
e means of communication with several people at a tin -

(&) Three ship building Industries.
ecating awareness among the people about v, . .
rious al

, 1t
o in cr!

pulicies.
3, Why are

: e i ant because th . A

. Railways are lmpnrtﬁnt ey are the mai A
Ans are the lifelines of the country for large scale movem‘;::;?::g
\ 4, What ar¢ National Highways ? e 1
: Nationﬂl Highways are roads which connect one state with the other and ar i

Y \ Ans {mportance. They are constructed and maintained Wg:mm

l

l‘

Y IRON,STEEL . .
‘ | > railways important ?
< ENGINEERING INDUSTRIES

S
gk
CHINA i

4

4 e )

PAKISTAN & Awnmes-fn
o ~

g Ny TN TIBET

Q5. Name the places that are connected by : : ‘
(a) Golden Quadrilateral.
North-South and East-West corridors. S

(b) 9

. (@) Golden Quadrilateral connects Delhi, Mumbai, Chennai 2
s e North-South corridor connects Srinagar to KanCh!meﬂ o fmi &
connects Silchar to Porbundar. A
Q6. State the advantage of pipeline transport.
o n Y Ans. Itisa convenient mode of transporting oil and natural gas, It is f
# Q continuous. There are no chances of pilferage and adulteration. Ii
3 {he railways, saves time and energy cost. YL o
Q7. Name four international ports of India.
(o A \ Ans. @) Mumbai, (b) Kochi, (¢) Kandla, (d) Vishakh
8. What is meant by favourable balance of trade ? Is India’s fo

REFERENCES °
= 3 favourable 7

HEAVY ENGINEERING 'A ofie e, 1 e
S 2 ] Ans. If the exports are more than the imports, the balance of trade
ARG € 4 foreign trade is unfavourable. This is due to the high growth r:

sursinono Do increasing demands.
2 | Q9 Distinguish between means of transpo

MACHINE TOOLS (HMT) 2
€

-
[§
~
- 35
\'\-\.\ ”€p4 g 7S d (}‘"
U m S Sk S
asoun ~adfn g 7

A ODAD™
ph-2r )
R O e

.~/ BAY OF BENGA
R O sanrarian g

98 wvormanas '’

-

rt and means of

#(n|ol»|e|o
b

[ » i ‘ Ans. Means of transport Means of €0
b —
(@) Means of transport are {he means | (a) Means of comm

—_— e — R for carrying passengers and goods means through
" ‘ from one place-to-another. informatlohims\
one person-to-
distant places.
(b) Post and tele
media, T

(b) Cars, buses, trains, ships and air-
crafts are important modes of tran-

sport.

e Yor® Social Science-X
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Mass communicaﬁo"
(@) They are means by whicp P s 8
people can be Communicated g o .. 4
(b) Important means of mas e
cation are radio, Televisiz:o I;‘:::l;u;
; De

and films.

(@) A portis a place where

ships ¢
load and unload cargo, P ey

iy lines coming from different
f the country meet.

 lines are on land.

d ;nland waterways be encouraged ? Give two reasons,
rways are the cheapest means of transportation an
ving heavy and bulky material.
a fuel efficient and environment friendly mode of transport,.
three categories of commodities whose exports and three categop:
. : 4 3 - gories of
ties whose imports have increased during 2001-02.

(b) Sea ports are on the sea coast,

d are most Suitable f,

The commodities whose exports have increased over the year 2001-2002 are whea
sugar, poultry and dairy products. b

ities whose imports have increased are nuts, marine products and irop

dy the data given below and answer the questions that follow :

Operation of Indian Railways

Years
Items

1950-51

0.4
53.6
139.3
98.2

1.5

1997-98

14.0
62.5
19595.0
7573.2
194

1. Route electrification (000 kms)
2. Total route length (000 kms)
3. Earnings from goods carried (Crore Rs.)
¥ L Passenger earnings (Crore Rs,)
3 S Average rate per passenger kilometer (Paise).

“} How many times has

¥ pPassenger fare per kilometer increased between
- 1950-51 and 1997-98 ?

(b) What was the carning of Indian railways from goods carried in 1997-98?
[Delhi 2001]

’iﬂenger fare per kilometer increased 19.7/1.5 = 13 {imes.
ﬁa earning of Indian railways from goods was 19,595 crore.

™ Social Science-X

e as given in question 14,

4 uch increase has been p
How K nd 1997-98 2 ¥

The total rail length increase : :
jos: @ ") 1n 1950-51 the total route length was
A (z;i) In 1997-98 the total route length W
w > the increase was 89,000 Kms v
Th“!:rhe motive behind electrification of rgﬁ
w (i) Pollution free A
(iii) More traction power (iv) El
ta same as given in question 14. i

(16, Da How many times have earnings from
) 1950-51 and 1997-98 ? %y
) State the total length of railway routes in
ings from passenger fare have increased
Ans. (@The earning s,
i in 1997-98 was
total length of railway routes in 1 d
ar e &
Q7. Study the data given below and answer the ques 7
7 P

Progress made by Indian Railways (@

Items

1. Total route length (Kms)
9. Blectrified route length (Kms)
3. Passengers (In lakhs)
4, Number of railway engines
(i) Steam
(1) Diesel
(zii) Electric
5. Coaches
6. Wagons
(@) During the 46 years from 1950-51 to I
only marginally ? Give one reason
(b) How many times has electrified rout
Give one reason for this increase.
Ans, (a) During the 46 years the total route len; ’
demands of trade and commerce were metg




ol

i
X
A

gth has increased (13,018 - 388). ’

the electrified route length are .
';}* (#1) More traction '

.

Power

*
sestion 17. A

1950-51 to 1996-97 the tota]
creased manifold, What jg
?

‘during the 46 years fro
1e number of passengers has
1as in railways coped with
nment with regards to the electrificat dn{"‘,.
> of € ¢ engines which ensure more speed ang tae

> ¢ utted to provide more faster passenger tr, 5
in order to cope up with the growing trave| dnmmm, ’
 question 17. ; ﬁ* :

":f_;ﬂm‘wngines has come down from 8,120

d 1950-51 to 1996-97 ? What is the policy of the Zovery

m 1950-51 ¢4
increased e
this challep,

y reased dyy
[Fore
ent is to encourage diesel and electric engip
ngers increased are 41,530 — 12,840 = 28,690 p,
4 enger increased by about 3.2 times in this period,
given in question 17.

limes has the number of Passenger ine
i e

by

a passengers have increased during 1950.-51 to 19965?7"-:" at i
un of railway engines that have decreased during the

P 4

the considerable increase in the number of passengers why
et of railway engines decreased ? LAT 2001)
ber of passengers that have increased are 41,530 - 12,840 = 28,690 passengers
nbe: gf railways that have decreased 82 ‘

09 — 6967 = 1242 engines.
mber ‘ﬁf railway engines have decreased beca
m,@lnm'ic engines. These have more (q) spe

: ;-l“énin question 17, it
&hﬂw and electric engines have increased a lot duﬁﬁ&ﬁl‘ ]
o W’I What is the policy of government in this regard?
[Fommﬂ@.ﬁ‘

use of the increase inéuleof
ed (b) traction power.

.

% Das ﬁdopted the policy to encourage them because di
' and traction,

i ws

esel and; e‘% ‘ ‘

1o data given bel
, study the €
/iems ek . 33

I Loco otives .

g Diesel
|3, Blectric
—Total number

,thich item shows the highest in ‘ R
- 51 and 1996- 97 7 &

() Explain the main effect of the

The number of diesel locomotives have incr
It highlights the increased tz'm‘.m
passengers and goods are carried.

p Jata same as given in question 22,

Q.23 :::) What type of locomotives have

(b) Justify the progress in Indian railway
of locomotives ? '

Ans. (a)
(b)

LR

(a) Steam locomotives have decreased in mm Thi
Ans. traction is less. . g
(b) On the other hand electric and dmg'e‘f" co
speed, pollution free travel and tract.mq. Fova
Q24. Study the table carefully and answer the ,
| Roads
» N (S ;’, i
. No. of telephone exchanges. -

1 .
9. No. of direct telephone exchange lines. | 58
3. No. of villages connected by telephone. To

What is the increase in the number of 7_-“‘{
between 1988-89 and 1997-98 ? 4 fgosn
Write the number of telephone exehluml{, 19
In 1997-98 the villages connected by telephﬂg i
villages. : iy

‘(b) Number of telephone exchanges in 1997-98 i
Q25. Study the above table carefully and ﬂn:m_‘;i,

~ (a) What was the total number of direct tel
(b) Write the number of villages conn

(@)

(b)

Ans. (a)




ange lines were 4,171

ur of villages connected by telephoneg w
A l,we?; p

answer the following q
| number of dircct telephone ey,
in the number of villa

: £€s conng
997-98 ? ¥

telephone exchange lines were 4,171 |
er of villages connected by telephones during the
ad in 1997-98 it was 3,10,687. The incre

nt of computerised reservation over

akhs; :

=t

(34

ase was ai "

"el"h,{_ ) >
‘computerised reservation are : )
ation has become faster 3
duced malpractices Uiy
on can be done on phone. (
1 Road traffic o2
il Yea
RS Mo 195051
g4 'x el 7 (km) ; s
= 5{1“;';-_ . 1,57,019 ¥ S
rface 242,923 . |
S :
al length 3,99,942 Jnd
: dunuty (per sq. kms) 0.12 g

t vas the total length of surfaced roads in 1950-51 ?

,?,.,'.“&e total length of roads by 1990-91 ?
total length of surfaced roads in 1950-51 was 1,57,019 kms.
 total length of roads by 1990-91 was 20,37.000 ks,

‘ sity is the length of the road per square kilometer.

Rl " ¢

Arli 1951
e length (km) 53,596
d route length (km) 388
k() 59,315
ives 8,209
; 8,120
: e Lo R 17
brinadill 72
oo AR 2,05,596 ok
ok o1t - 19,628 he
1 tonnes) 93 A

[ et 1= 1hE TR

) 1 3 vaf.( T
o4 which type of ra nging

b ﬁﬁ;ten 1951 and 1986 ? 3

Increase in the total route length t
oy 1

Ans (‘;) e aumber of steam engines decli
£

ish two main facts about the i : ..
20, Furnis : -
w‘ try i 1 ety
i rder roads help to maintain the su
Ans: (@) ]:fo hysical odds and extremely ‘
‘; cross the deserts, D?O“Ftﬁmq: v
(b il:,v);ment of men and equipment in both-

any three railway zones with
e

' _ New Delhi B -
e hern Zone . 3
‘ Nmmrn Zone — Mumbal' -
i ern Zone — Chennai L y : w,
: Souﬂ:.areExpressway Naf.ioual ig
@52' Wha ressway National Highways ha enp
Ans. -mnx‘;,,t of traffic in the country.
o :::,:any four international airp(;;ﬁ
Qﬁ: (] Delhi » M
(¢) Kolkata

f India.
o inland waterways o e
3. Nﬂm;l::v Ganga river between Allahabaﬁ-l nd H
i (u)) The Brahmaputra river, between S .
4 ¢ the major parts on the ‘_east Uﬁltw ey
MB I\jgll}:‘akhapatnam. Paradip, Haldia, Em, Yol
o Nlme three means of mass communienh%
Y A
QA’?\IB'- () Radio h:;)Tandm o
Q37. Study the figure carefully mgwerm :

8000
7500
7000
6500
6000
5500 ol
5000 i
4500 i

4000 o
3500 ,
3000

8500 ] 8120

msteam |08
-mEscEl"'mc {|PE ay
geiperhe | ’u‘!

NUMBER OF LOCOMOTIVES

500 17 2

1951



A vd s en which, v

be preferreq over dj::el

Mﬂ be preferred over

b&eh'ach‘on, diese] becﬁuse; ‘N

.

h length of the metre gauge 15,178

tis to
‘have uniga i convert metr,
@ uge system of railways. e

44,216
15,178
3,415

lhal the
1999.2¢(
the Govern

length of

trified raj] routes j
: 3 Sin [
B electrification of rai
: e they are cl
NﬂWuy Toute
e langth

ndia 483 km,
1 routes—

€an and pollution free ﬁﬁﬁ‘

S in 2000-2001 ? '
of electrified routes be

‘ ?»390; Was 62,759 ks,
es is 483 kms,

e foul mlﬂs“ comn

Telephones
© Television

_ GWER QUESTIONS (3 M/
w' Why is transport essential 2
the importance of transpor

@ It ensures movement. of peopl
T ®) It enhances production as the pro
materials.
(©) Tourism as an industry has deve

(d) Volume of trade has increased which ha
and the country as a whole,

Q43 The great plains have more railways f
 he great plains have more railways du‘ev"' ;
(a) High density of population

i) Rich agriculture

" (o) Greater industrial activity
(@ Level land.
Enumerate the problems faced by our

Ans. Various problems faced by our railways
(a) Passengers travel without tickets dus
(b) They pull chains unnecessarily m}q
(¢) Thefts and damages of railway pro

~ (d) Railway accidents due to the negli .

railways.

(e) The signalling and the safety sys‘be’ml

Q45. State four steps that have been taken

Ans. Steps taken to modernisc the Indian r
(a) All the main railway stations have b
(b) The railway is replacing steam and
~ ensured clean travel free from polf i
~ .(¢) More and more faster trains are b
(d) Metro railway is being extended in K
Q46. How does road transport score over ra
Ans, (@) Road transport requires less investment
(b) Maintenance cost is also low.

Thnge

(¢) Road transport provides access to.

(d) Roads facilitate the fast transpor
their production.




sport more useful nowadays ? Write three reasong, -
: e A
141 195,

1 "mims of transportation.
or very different terrains like high mountains, deserts anq y,;
. ﬂuckfo

transportation of perishable goods hence, stimulateg thei
T rgg
6,

.dvantages of container service.
W provide door-to-door services for goods and commoditjeg,
}g reduce transport and delivery time.
wres greater security of goods.
'Mum from pilferage.
at are the thre o types of railway gauges in India ? What is the disa
 gauge- railway system ?
e gauges are :
ad gauge : width between the rails — 1.67 m.

dvantyy,

Narrow gauge : width between the rails — 0.76 m.
ent gauges create difficulties in the smooth flow of traffic. If gauges all over
“uniform, it will ensure higher speed, cheaper transport and will reduce the inconvenien o
of changing trains during a journey. e

[AT 1996, 209

~(b) It reduces transport and delivery time.
(o) Itensures greater security of goods from pilferage.

1 m&m‘ measures to reduce growing pressure on Indian railways,
s [Delhi 2000]
Ans. The

b) tion of locomotives.

~ (©) Transportation of mineral oil and natural gas through pipelines.

n T DS

W % m«ybfﬂlermnl power stations near coal and lignite mines.
.ﬂﬁ ain two efforts to maintain navigability in Hoogly river.

i xplain two reasons why water transport is cheaper than road transport.
s

‘;ﬂ: SR [AI 2000]
(@) Efforts to

Dheselis:

maintain navigability in river Hoogly.
nt dredging of river Hoogly.

e

‘ the ;mportance of each of the f
Jorground Metro Railways

nde! s

Y a Port

anagar Telephone Nigam

hcha Roads.

i d metro rail provides fast traffic
- 1kata and Delhi. # i

Kolkl;l Port relieves the growing pressure on K

anagar Telephone Nigam have been set

erate telephone services.

s @

! cha roads are confined mainly to rural

re Marmagoa, New |

o the states whe
Q'“' ﬂ"]ocﬂwd'

Marmaga®

Goa, Daman and Diu.

Ao Mangalore Karnataka.
qu dip — Orissa.
I:': corin _ Tamil Nadu.

oblems of railways.
gers travel without tickets,

o Dacﬁbe the pr

(@) Many passen: . 7 .‘
i (b) They pull chains unnecessarily which lead to

(¢) People stop trains which cause heavy losses to the
(d) Thefts and damage of railway property hav.eﬂ
56 Study the given picture carefully and answe

AN

56.1. What has b
exchange ?

Ans. It contributes Rs. 21, 828 crore. :
56.2 How has tourism help in the natiof

* Ans. Tourism promotes national integra
and culture pursuits. It helps in th




answer the questiong tha

Golden Quadrilateral
North-South Corridor
East-West Corridor

roads in India ? Write two characteristics of
[AI 1997

[NCERT]

nal Highways ’l‘hﬂy
ent. They connect the
State Highways : They are const;
i my join state capitals with district
© bmﬂct Roads : They connectAt'ﬁ", :
district. 3 ;5
o \;(‘é)f"‘ymage Roads : They connect the villages
They play 2 vital role in hﬂping__th'e
towns. : :
© Border Roads : They are vital road :
porder roads organisation constructs and
o Why are the means of transport and ¢
nation 7 P
© . Radio, Television, Telephone, e-mail are the maij
it is the time of information and technology. Tk
communication play an important role in the de
(@) They help in transferring technology fro A
to another.
(b) Means of communication helps us to know w
world. S
i u@ They have shortened the distances betwe
bad (d) Means of transportation carry common peop
~ carry skilled and unskilled labour from one |
balance of demand and supply in an e :
60. Write briefly on the progress made by Indian
points .
(a) Intensive utilisation of tracks and wagons
“(b) Alarge government organisation
:-{E) Economy in energy consumption
(d) Computer reservation - Boae
(e) Long distance superfast trains.
s. (@) Intensive utilisation of tracks and wagons
~ trytoincrease the utility of the existing

&

" The number of coaches and wagons have n

1 W%}‘J through better and computerised manag

L

- maximum use.

) A large government organisation : Railw

employment to about 17 lakh people. Itg.s‘
 its own budget presented in parliar

Economy in energy consumption
steam or diesel which are clean and pol

1as also benefitted the passengers as no
‘place from any station is available. g




The vmnintainance cost is loﬁ% o
nerits
) Waterways are Very slow. —
ﬁ As the water 8 belng “tﬂiﬂgd OF 1TT1g
é{)“ Transport e /.ﬂ :
ts PO . " ek
coach i {7 itis the fastest mode of transport, *
‘K es and pantry. Bog e | s ji) 1t can 80 over unsuitable topography
locomotives : /Y : i

i

replaced by diesel and electri o Ll n : . () Ttisan expensive mode of transport.
IR R speed ¢lectric engines. Wi (ii) 1t does not connect the rural areas.
L-ﬁ: gy 2 . .
» journe : : y three merits of roadways.
. k Q88 s't)a'f;:gtrucﬁon cost of roads is much lower
Aus: ® oads can traverse comparatively more
© ads can negptiate higher gradients of slo
such as the Himalayas. ,f:
st Where and why is the rail transport.
travel for passengers. " {ran sportation in the northern plains ?
g saith ol';xg: ollowi ‘ ol transport is most convenient means of t;
owing transport systems in Injs, | g Jand, high population density rich ag ul
[Delhi 1995 | activity. RN,
e W' hat is the significance of border roads ?
i roads are vital road links along the fronties
Lo e ce in the southern and north eastern bord
accessibility in the areas of difficult ferrain and hay
Q6. What is meant by trade ? What is the diffe
s | Localtrade? Vo
areas tothe urban arcas s Bocasbangeof goods amons peenle SR
in hilly, d Local de 15 carried out in cities, towns an
wa; ¥ desert and forest areas. carried out between countries.
. Why are the means of transport and com
Why
nation and its economy ?
| Ans, Means of transport and communication are called
~ (a) Transport help usin both production and dis
(b) Transport help in the development of comm
: (¢) They have reduced distances beinging the world
o (@) They facilitate trade between countries,
cs can be tr; ¢y 2
i ansported by railways. | national economy i
T | ® Transport carry skilled and unskilled labour form
as it is expensive. £ ERTE S thus maintaining the balance of supply and d
] o ~ () They help in transferring technololy from one
: ' e a note on the changing nature of
has trade relations with all major trad

b
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